PW-84DH (RS-485+Relay)
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R e 1=

B RS-485 1 /F

PASS: (1) 1% 877 PASS (4 B 783818 A 1000)

(2) #2[>] F1I2) LED & pg K

(3) Z[A] B 0—>1-2.... >89 BEMTRNHT

XBMUH U B8R FSRE L

(4) 1% [E ] Save A Addr
Addr: () i[> &R TE

(2) 1 [»]10'-10° BBEET

(3) iz [A ] P 0~9, A~F

(4)1z[E] save

(5) #% [M ] BB Addr £ A\ bAud
bAud : (1)iz[» | B2 =@

(2) 7z [A o 9.6K,4.8K,2.4K,115.2K,57.6K,38.4K,19.2K

(3) #[E] save
(4) 1z[M] B9 bAud A FrAnE
FrAnE : (1)1z [ > | E%E@E

(2)$z[A ] D N.8.2,E.8.1,0.8.1, N.8.1

(3)1z[E] save

(4) #%2[(M] BB Frame A\ 8 3){&

M LED f57~)&
R1: #8881 (Relay 1)E)FISTE
R2: #8288 2 (Relay 2) B FISTIE

W R
[>]: SBIBV, A KWK RIEIE
[A]: 3%#E KWH 5 -KWH (-8R B & 5%)

BEREBRRERRBEE

BE > +[E |12BB 3~4 WiEABREEBR

PASS : (1) 1% [M] B8/ PASS (@ 7ER &% 1001)
(2) 32> ] F 18I LED RS g
(3)iz[A]#t 0>1-2... 89 BB TN Z
XEMY Y B2 RIESER L
(4) 12 ER873, A\ FSC1

FSC1: (1) iz[ > |BE®mEE
(2) 12> ]10°~>10~10'>10° BIBRET
(3) Z[ A ] s 0~9
@) [ E]RE
(5) 1%[ M ] 8£E3 FSC1 A oF S1

oFS1: (1) z[»]BEHRTEE
(2) #2[»]10°~>10°-10'-10° BEIBFE

(3) iz O 0~9
(4) [ ERB
(5) 12 [M | B3 oF S1 3 A ZEr1
ZEr1: () E[D> | B/ EE
(2) %[> ]10°>10">10'->10° BIBEE T
(3) #Z[ A |2 % 0~9
(4) %[ E R
(5) #%£[ M | 8BS ZEr1 3& A\ dEP1

dEP1: (1) 1Z[ > | BB EE
(2)1z[» ]10°~>10°->10">10° {BIBEE T
(3)1z[E |1
(4) 1z M | 569 dEP1 it A\ FSC2
FSC2: () z[»]E%RTE
(2)#z[»]10°—=10°—~10'=10° BB FET
(3) 1Z[ A ] D 0~9
(4)Z[E]RE
(5) #%[ M ] B B8 FSC2 3 A\ oF S2
oFS2: (1)1g[» |EBEE
(2)#2[ > ]10°=>10°->10"-10° BB EET
(3) iz A ] O 0~9
(4) B[ E R
(5) #%2[ M ] B8 oF S2 5t A ZEr2
ZEr2: (1) ig[ > |EHREE
(2) 2> ]10°>10°>10"—10° BIBEET
(3) 12 A D 0~9
4)1Z[E|RE
(5) #&[[M | B 63 ZEr2 3 A\ dEP2
dEP2: (1) 12[ > | B EE
(2)12[» ]10°>10>->10"-10° BB AT
(3) 1z E B3
(4)#2[ M558 dEP2 A B8IE



Modbus Register Address (V1.0)

Addres | Word Item (description) Code Unit Sign Range
0000 1 Watthour (tEFRBE/R{H) 03H - Unsign 0~99999999
0001 1 Watthour (L BRBE/R{E) 03H ---- Unsign 0~99999999
0002 1 Watt (tL BB RER(E) 03H ---- Sign 0~9999 (B 5REN 2'S #H &)
0003 1 Voltage (ELBR B8R () 03H ---- Sign 0~9999 (B 5REN 2'S #H &)
0004 1 Current (ELBRBE/R1H) 03H ---- Sign 0~9999 (B 3REV 2'S #HED
0008 1 Relay status 03H ---- ---- 0~3 Bit0 : DO1 Bitl : DO2
0009 1 & Watthour (tLRBBE/R{B) 03H - Unsign 0~99999999
0010 1 & Watthour (kLB BE/R{B) 03H ---- Unsign 0~99999999
0011 1 Y588 03H 0
0012 1 FEER 03H 0
0013 1 FEES 03H 0
0014 1 a8z 03H ---- ---- 0
0015 1 a8z 03H ---- .- 0
0016 1 WH reset 03H - - 1 : Reset
0017 1 bk 03H ---- ---- 0
0018 1 a8 03H ---- ---- 0
0031 1 CH1 PVI{REHEE 03/06H ---- Sign 0~ +/-9999
0032 1 CH2PVIRE{EETE 03/06H i Sign 0~ +/-9999
0033 1 DOI1 Relay type 03/06H ---- Unsign 0~2 0 : Voltage
1 : Current 2 Watt
0034 1 DO1 F{EHRBE 03/06H ---- Unsign 0~1 0: Hi 1:Lo
0035 1 DOI & E{E 03/06H ---- Unsign 0~9999
0036 1 DO1 HYS B /%1 03/06H S Sign 0~ +/-9999
0037 1 DO N Ef 1 #& 03/06H .- Unsign 0~9999
0038 1 DO1 Delay time 03/06H Second Unsign 0~9999
0039 1 DO2 Relay type 03/06H .- Unsign 0~2 0 : Voltage
1 : Current 2 Watt
0040 1 DO2 FEHRBE 03/06H .- - Unsign 0~1 0: Hi 1:Lo
0041 1 DO2 R E{E 03/06H S Unsign 0~9999
0042 1 DO2 HYS E#{E 03/06H ---- Sign 0~ +/-9999
0043 1 DO2 T Ef {E 4% 03/06H ---- Unsign 0~9999
0044 1 DO2 Delay time 03/06H Second Unsign 0~9999
WiEiRE W 5ME BISLR S (mm)
— DO1 —— D02 — ~ RS-485 _
[EEEEEEEE i

com A com A

Lol Lol

Lower

oo

~AC Power _
90~260V.

CE®

lelelo]

L Input V L Input A |

Shunt

— Input V —Input shunt
+ -1+ -

~AC Power -
90~260V

ORIB®

6006

HiER

— Input V —— Input A —
+ -1+ -

~AC Power -
90~260V

O@E®

CE®

Input

90
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BiESREE BESEES

PASS: (1) 1% R8T PASS ({2 B 7R 8 A 2000)
(2)1Z2[> ] THISILED S B9
B)1z[A]ER 0->1-2.... 8- REMEBNHZ
KO U BUSRIETBEE L
(4)}E|E| Save i A rltP
P (1) iz > 1EREE
(2) 1L [A]SBIEV, A KW(B ) ZH#EREH S
(3)iz[E] save
(4) 3% LM ] B 58 ritP % A\ rIACt
rACt: (1) i[> ] BB EE
(2) 1% [A] 5% 7% High Lo )1
(3)#z[E ] Save
(4) 12 [M] B 65 rIACt 3 A rISEt
rISEt: (1) [ > | &R T E
(2) %[> ] F{i1%1 LED ZPIK
) r[A]EH 0>1-2.... -89 BEREENHZ
KB, I EUERIETRE L
(4)1z[E] save
(5) 1% [M] 853 rISEt A rIHYS
rHYS : (1) i[> | &R EE
(2) 1z [> ] F1i181 LED SPg
() i1z[A] @ 0-1-2.... ~8—9 BIEFEBHNYZ
KO U BUERIETRE L
(4)1z[E] save
(5) 1 [M] 8BS rIHYS A rino
rino: (1)1 > ]1ERTEE
(2) 1% [> ] T{I8ILED &P
(3)iZ[A] R 0—>1-2....~8—9 REREEHNY
KO U BUERIETRE L
(4)1z[E] Save
(5) 32 [(M] 883 rino SE A rldLY
rldLY : (1) 12> | BB EE
(2) 1% [ | T8I LED & P31
(3) 1% G 0->1-2.... >89 RIBFAET R
KB, I EUERIETRE L
(4) 1% Save
(5) 1% [M ] BEES ridLY SE A r2tP

r2tP: (1) ig[> ] B EE
(2) i [ADZEV, A KW(U) 2#ERE S
(3) 1% Save
(4) 3% (M) 858 r2tP 3 A r2ACt
r2ACt : (1)1z[» ] &8 E
(2) 1% [A] 527 Hi gl Lo B1E
(3) 1% [E] save -
(4) % (M 883 r2ACt S A r2SEt
r2sSEt: (1)iz[>] 5% =@
(2) 1% [> ] F{i181 LED &P
B) R [A]EH 0-1-2.... 80 B IEMEBNHYF
KBME, M @UERIETRE L
(4)}§ Save
(5) 3% (M 839 r2SEt A r2HYS
r2HYS : (1) 1z [ > | B/ A
(2) 1% [» ] F1i181 LED SPg
) iz[A]EHK 0>1-2.... =89 BEREENHF
XEMEY, I, B RESER L
(4) 1z [E] Save
(5) 1% RS r2HYS S A r2no
r2no: (1) 1z > BREE
(2)1%2 > ] FHRIBILED & B9
B)E[A]ER 0>1-2.... 89 REREENHF
KO M U BRIETERE L
(4) 1z [E] Save
(5) % [M ] 568 r2no A r2dLY
radLy : (1) iz [ | BB EE
(2) 12> ] FTHIBLED SEK
B)iZ[A]ER 0-1-2... =89 REREBNHZF
KB, M BUERIETRE L
(4)1z2[E] Save
(5) 3% [M] B8 r2dL sE N\ 8 814E

M KWH 52

2 [ +[E 121338 3~4 AR TR

PASS : (1) % [M] fa7= PASS ({78388 & 3000)
(2) &[> | Fir8 LED P9y
(3) &[4 |#t 0>1—2...—~8—9 RIEFF EBHH
MBI BUB2RESER L
(4) %[ E |57, A\ rESEt

rESEt: (1) 3z[ > ] F18I LED &PIM (LRIFEERE R 1000)
@) E[A] 8K 0-1-2... >80 BIEF BN
X BRI, I8, BUBIRIES BE -
3) 1z [E i1
(4) = [M ]8R rESEt S A S 8I1E
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